

Available online at http://ijim.srbiau.ac.ir/ Int. J. Industrial Mathematics (ISSN 2008-5621) Vol. 8, No. 4, 2016 Article ID IJIM-00640, 6 pages Research Article



The Solution of Fully Fuzzy Quadratic Equations Based on Restricted Variation

L. Gerami Moazam *†

Received Date: 2014-12-29 Revised Date: 2015-11-04 Accepted Date: 2016-06-11

Abstract

Firstly, in this paper, we apply the Fuzzy Restricted Variation Method to achieve an analytical and approximate unsymmetrical fuzzy solution for Fully Fuzzy Quadratic Equation. In this application, after finding the real root of 1-cut of $\tilde{A}\tilde{X}^2 + \tilde{B}\tilde{X} + \tilde{C} = \tilde{D}$, initial guess is always chosen with possible unknown parameters that leads to highly accurate solution. This technique is applying to solve mentioned equation in four cases via the sign of coefficients and variable that there is not zero in support of them and we solve the problems to find positive or negative solution. This method has been shown to solve effectively, easily and accurately a large class of nonlinear quadratic equations with approximations converging rapidly to accurate solution. In this paper we present the solutions in four cases with formulas, that can be used to write the algorithm for this technique. Finally to illustrate easy application and rich behavior of this method, several examples are given.

Keywords : Fuzzy number; Fully fuzzy quadratic equation; Fuzzy parametric form; Restricted variations; Unsymmetrical fuzzy solution.

1 Introduction

The problem of finding the roots of equations like quadratic has many applications in applied sciences like finance [5, 14], economy [6, 9, 20, 23], mechanics [13] and etc. Sevastjanov et al. [22] proposed a new method for solving interval and fuzzy linear equations. In [10, 11, 12]Buckly discussed on solving fuzzy equations. Abbasbandy and otadi in [2] obtained the real valued roots of fuzzy polynomials using fuzzy neural networks. In [1, 4, 7, 8] the authors have introduced numerical and neural net solutions to solve fuzzy equations. In [3] Allahviranloo and gerami have proposed new method based on optimization theory to solve fully fuzzy quadratic equations. In the current paper we propose a new method to solve $\tilde{A}\tilde{X}^2 + \tilde{B}\tilde{X} + \tilde{C} = \tilde{D}$ with applying Fuzzy Restricted Variation Method (FRVM). This method has been shown to solve effectively, easily and accurately a large class of nonlinear quadratic equations with approximations converging rapidly to accurate solution. We want to use this efficiency method to find an analytical and approximate unsymmetrical fuzzy solution for Fully Fuzzy Quadratic Equation (FFQE). In FRVM, initial guess is always chosen with a possible unknown parameters that one iteration leads to highly accurate solution. we consider FFQE and show how restricted variations work in FRVM.

The rest of the paper is set out as follows: In second section some related basic definitions of fuzzy mathematics for the analysis are recalled.

^{*}Corresponding author. lgerami.moazam@yahoo.com

[†]Department of Mathematics, Science and Research Branch, Islamic Azad University, Tehran, Iran.

In section 3, new method, for solving fully fuzzy quadratic equation is presented. In section 4, this method is used for an analytical-approximate unsymmetrical fuzzy solution of FFQE. In section 5, the conclusions are drown.

2 Basic concepts

The basic definitions are given as follows:

Definition 2.1 [16, 17, 25, 26] A fuzzy number is a function $\tilde{u} : \mathbb{R} \to [0, 1]$ which satisfies:

- 1. \tilde{u} is an upper semi-continuous on \mathbb{R} ,
- 2. \tilde{u} is normal, i.e, $\exists x_0 \in \mathbb{R}$ with $\tilde{u}(x_0) = 1$,
- 3. \tilde{u} is convex fuzzy set,
- 4. $\overline{\{x \in \mathbb{R} \mid \tilde{u}(x) > 0\}}$ is compact, where \overline{A} denotes the closure of A.

Note: [17] In this paper we consider fuzzy numbers which have a unique $x_0 \in \mathbb{R}$ with $\tilde{u}(x_0) = 1$

The set of all these fuzzy numbers is denoted by \mathcal{F} . Obviously, $\mathbb{R} \subseteq \mathcal{F}$. For $0 < r \leq 1$, we define *r*-cut of fuzzy number \tilde{u} as $[\tilde{u}]_r = \{x \in \mathbb{R} : \tilde{u}(x) \geq r\}$ and $[\tilde{u}]_0 = \overline{\{x \in \mathbb{R} : \tilde{u}(x) \geq 0\}}$. [22] from (1) - (4) it follows that $[\tilde{u}]_r$ is a bounded closed interval for each $r \in [0, 1]$. We denote the *r*-cut of fuzzy number \tilde{u} as $[\tilde{u}]_r = [\underline{u}(r), \overline{u}(r)]$.

Definition 2.2 [17] A fuzzy number \tilde{u} is positive (negative) if $\tilde{u}(x) = 0$ for all x < 0 (x > 0).

Definition 2.3 [24, 18] A fuzzy number \tilde{u} in parametric form is a pair $(\underline{u}, \overline{u})$ of functions $\underline{u}(r)$, $\overline{u}(r)$, $0 \leq r \leq 1$, which satisfy the following requirements:

- 1. $\underline{u}(r)$ is a bounded non-decreasing left continuous function in [0, 1],
- 2. $\overline{u}(r)$ is a bounded non-increasing left continuous function in [0, 1],
- 3. $\underline{u}(r) \leq \overline{u}(r), \ 0 \leq r \leq 1.$

Definition 2.4 [24] For arbitrary $\tilde{u} = (\underline{u}(r), \overline{u}(r))$ and $\tilde{v} = (\underline{v}(r), \overline{v}(r))$, $0 \le r \le 1$, and scalar k, we define addition, subtraction, scalar product by k and multiplication are respectively as following:

addition: $\underline{u+v}(r) = \underline{u}(r) + \underline{v}(r), \qquad \overline{u+v}(r) =$

 $\begin{array}{l} \overline{u}(r) + \overline{v}(r), \\ subtraction: \underline{u-v}(r) = \underline{u}(r) - \overline{v}(r), \quad \overline{u-v}(r) = \\ \overline{u}(r) - \underline{v}(r), \\ scalar \ product: \end{array}$

$$k\tilde{u} = \begin{cases} (k\underline{u}(r), k\overline{u}(r)), & k \ge 0\\ (k\overline{u}(r), k\underline{u}(r)), & k < 0 \end{cases}$$

multiplication:

$$\begin{split} \underline{uv}(r) &= \min\{\underline{u}(r)\underline{v}(r), \underline{u}(r)\overline{v}(r), \overline{u}(r)\underline{v}(r), \overline{u}(r)\overline{v}(r)\},\\ \overline{uv}(r) &= \max\{\underline{u}(r)\underline{v}(r), \underline{u}(r)\overline{v}(r), \overline{u}(r)\underline{v}(r), \overline{u}(r)\overline{v}(r)\},\\ for two important cases multiplication of two fuzzy number is defined by following terms:\\ If <math>\tilde{u} \geq 0$$
 and $\tilde{v} \geq 0$ then: $\underline{uv}(r) = \underline{u}(r)\underline{v}(r)$ and $\overline{uv}(r) = \overline{u}(r)\overline{v}(r),\\ If \tilde{u} \leq 0$ and $\tilde{v} \leq 0$ then: $\underline{uv}(r) = \overline{u}(r)\overline{v}(r)$ and $\overline{uv}(r) = \underline{u}(r)\underline{v}(r),\\ If \tilde{u} \geq 0$ and $\tilde{v} \leq 0$ then: $\underline{uv}(r) = \overline{u}(r)\underline{v}(r)$ and $\overline{uv}(r) = \underline{u}(r)\overline{v}(r),\\ If \tilde{u} \geq 0$ and $\tilde{v} \leq 0$ then: $\underline{uv}(r) = \overline{u}(r)\underline{v}(r)$ and $\overline{uv}(r) = \underline{u}(r)\overline{v}(r),\\ If \tilde{u} \leq 0$ and $\tilde{v} \geq 0$ then: $\underline{uv}(r) = \overline{u}(r)\underline{v}(r)$ and $\overline{uv}(r) = \underline{u}(r)\overline{v}(r). \end{split}$

Arithmetics of r-cuts is similar to arithmetics of parametric form that recalled above [19, 21].

Definition 2.5 [24] Two fuzzy numbers \tilde{u} , \tilde{v} are said to be equal, if and only if $\underline{u}(r) = \underline{v}(r)$ and $\overline{u}(r) = \overline{v}(r)$, for each $r \in [0, 1]$.

A crisp number α in parametric form is $\underline{u}(r) = \overline{u}(r) = \alpha$, $0 \leq r \leq 1$. A triangular fuzzy number is popular and represented by $\tilde{u} = (m, \alpha, \beta)$ where $\alpha > 0$, $\beta > 0$, which has the parametric form as follows:

 $\underline{u}(r) = m - \alpha + r\alpha, \, \overline{u}(r) = m + \beta - r\beta.$

Definition 2.6 [15] Let $D : \mathcal{F} \times \mathcal{F} \to \mathbb{R} \cup \{0\}$, $D(\tilde{u}, \tilde{v}) = sup_{r \in [0,1]}max\{| \underline{u}(r) - \underline{v}(r) |, |$ $\overline{u}(r) - \overline{v}(r) |\}$ be the Hausdorff distance between fuzzy numbers, where $[\tilde{u}]_r = [\underline{u}(r), \overline{u}(r)]$, $[\tilde{v}]_r = [\underline{v}(r), \overline{v}(r)]$. The following properties are well known:

- 1. $D(\tilde{u} \bigoplus \tilde{w}, \tilde{v} \bigoplus \tilde{w}) = D(\tilde{u}, \tilde{v}), \forall \tilde{u}, \tilde{v}, \tilde{w} \in \mathcal{F},$
- 2. $D(k \odot \tilde{u}, k \odot \tilde{v}) = |k| D(\tilde{u}, \tilde{v}), \forall k \in \mathbb{R} \text{ and}$ $\tilde{u}, \tilde{v} \in \mathcal{F},$
- 3. $D(\tilde{u} \bigoplus \tilde{v}, \tilde{w} \bigoplus \tilde{e}) \leq D(\tilde{u}, \tilde{w}) + D(\tilde{v}, \tilde{e}), \forall \tilde{u}, \tilde{v}, \tilde{w}, \tilde{e} \in \mathcal{F}.$

Therefore (\mathcal{F}, D) is a complete metric space.

3 Fuzzy Restricted Variation Method (FRVM)

Let $\tilde{A} = (\underline{a}(r), \overline{a}(r)), \ \tilde{B} = (\underline{b}(r), \overline{b}(r)), \ \tilde{C} = (\underline{c}(r), \overline{c}(r)), \ \tilde{D} = (\underline{d}(r), \overline{d}(r)), \ \tilde{X} = (\underline{x}(r), \overline{x}(r))$ and

$$F(\tilde{X}) = \tilde{D}, \tag{3.1}$$

$$F(\overline{X}) = (\underline{F}(\underline{x}, \overline{x}, r), \overline{F}(\underline{x}, \overline{x}, r)).$$
(3.2)

Where $F(\tilde{X}) = \tilde{A}\tilde{X}^2 + \tilde{B}\tilde{X} + \tilde{C}$. In this section, we solve $F(\tilde{X}) = \tilde{D}$ and show how restricted variables work in FRVM. This method is applying to solve FFQE in four cases that there is not zero in support of coefficients and variable. These four cases are as follows:

1. $\tilde{A} > 0, \tilde{B} > 0, \tilde{X} > 0,$ 2. $\tilde{A} < 0, \tilde{B} < 0, \tilde{X} > 0,$ 3. $\tilde{A} > 0, \tilde{B} < 0, \tilde{X} < 0,$ 4. $\tilde{A} < 0, \tilde{B} > 0, \tilde{X} < 0.$

Without loss of generality, we use this method to solve FFQE considering case 1. Another cases are the same.

3.1 Case (1):

At first we write FFQE to parametric form:

$$(\underline{a}(r), \overline{a}(r))(\underline{x}^{2}(r), \overline{x}^{2}(r)) + (\underline{b}(r), \overline{b}(r))(\underline{x}(r), \overline{x}(r)) + (\underline{c}(r), \overline{c}(r)) = (\underline{d}(r), \overline{d}(r))$$
Then we set

Then we set

$$\begin{cases} \underline{a}(r)\underline{x}^{2}(r) + \underline{b}(r)\underline{x}(r) + \underline{c}(r) = \underline{d}(r) \\ \overline{a}(r)\overline{x}^{2}(r) + \overline{b}(r)\overline{x}(r) + \overline{c}(r) = \overline{d}(r) \end{cases} (3.3)$$

and

$$\underline{F}(\underline{x},\overline{x},r) = \underline{a}(r)\underline{x}^2(r) + \underline{b}(r)\underline{x}(r) + \underline{c}(r), \quad (3.4)$$

$$\overline{F}(\underline{x},\overline{x},r) = \overline{a}(r)\overline{x}^2(r) + \overline{b}(r)\overline{x}(r) + \overline{c}(r), \quad (3.5)$$

$$\underline{G}(\underline{x},\overline{x},r) = \underline{F}(\underline{x},\overline{x},r) - \underline{d}(r), \qquad (3.6)$$

$$\overline{G}(\underline{x},\overline{x},r) = \overline{F}(\underline{x},\overline{x},r) - \overline{d}(r).$$
(3.7)

In this technique, rewrite Eqs (3.3) in the next equalities:

$$\begin{cases} \underline{a}(r)\underline{x}(r)\underline{\tilde{x}}(r) + \underline{b}(r)\underline{x}(r) + \underline{c}(r) = \underline{d}(r) \\ \overline{a}(r)\overline{x}(r)\overline{\tilde{x}}(r) + \overline{b}(r)\overline{x}(r) + \overline{c}(r) = \overline{d}(r) \end{cases} (3.8)$$

Where $\underline{\tilde{x}}(r)$ and $\overline{\tilde{x}}(r)$ are called restricted variables. The value of $\underline{\tilde{x}}(r)$ and $\overline{\tilde{x}}(r)$ is assumed to

be known (initial guess) with $\underline{\tilde{x}}(r) = \alpha - \alpha_1(r)$ and $\overline{\tilde{x}}(r) = \alpha - \alpha_2(r)$ that α is the positive real root of 1-cut equation of FFQE and $\alpha_1(r)$ and $\alpha_2(r)$ are free parameters to be calculated from $\underline{x}(r) = \underline{\tilde{x}}(r)$ and $\overline{x}(r) = \overline{\tilde{x}}(r)$ where $\alpha_1(r), \alpha_2(r) \ge 0$ and $\alpha'_1(r) \le 0, \ \alpha'_2(r) \ge 0.$

Lemma 3.1 Suppose that $ll_+(r) = \alpha \underline{a}(r) + \underline{b}(r)$ and $uu_+(r) = \alpha \overline{a}(r) + \overline{b}(r)$ and $K(r) = \frac{\underline{a}(r)\alpha_1(r)}{ll_+(r)}, L(r) = \frac{\overline{a}(r)\alpha_2(r)}{uu_+(r)}$. If |K(r)| < 1, |L(r)| < 1 then with FRVM we obtain:

$$\alpha_1(r) = \frac{ll_+(r)\underline{G}(\alpha, \alpha, r)}{ll_+^2(r) + (\underline{d}(r) - \underline{c}(r))\underline{a}(r)},$$
$$\alpha_2(r) = \frac{uu_+(r)\overline{G}(\alpha, \alpha, r)}{uu_+^2(r) + (\overline{d}(r) - \overline{c}(r))\overline{a}(r)}$$

Proof. Solving (3.8) via $\underline{x}(r)$, $\overline{x}(r)$ we get

$$\underline{x}(r) = \frac{\underline{d}(r) - \underline{c}(r)}{ll_+(r)(1 - K(r))},$$
$$\overline{x}(r) = \frac{\overline{d}(r) - \overline{c}(r)}{uu_+(r)(1 - L(r))}.$$

with the assumption |K(r)| < 1 , |L(r)| < 1 we have

$$\underline{x}(r) = \frac{\underline{d}(r) - \underline{c}(r)}{ll_{+}(r)} (1 + K(r) + O(K^{2}(r))),$$
$$\overline{x}(r) = \frac{\overline{d}(r) - \overline{c}(r)}{uu_{+}(r)} (1 + L(r) + O(L^{2}(r))).$$

then

$$\underline{x}(r) \simeq \frac{\underline{d}(r) - \underline{c}(r)}{ll_+(r)} (1 + K(r)),$$
$$\overline{x}(r) \simeq \frac{\overline{d}(r) - \overline{c}(r)}{uu_+(r)} (1 + L(r)).$$

To obtain $\alpha_1(r), \alpha_2(r)$, According to FRVM,we set $\underline{x}(r) = \underline{\tilde{x}}(r)$ and $\overline{x}(r) = \underline{\tilde{x}}(r)$, then we find

$$\frac{\underline{d}(r) - \underline{c}(r)}{ll_+(r)} (1 + \frac{\underline{a}(r)\alpha_1(r)}{ll_+(r)}) = \alpha - \alpha_1(r),$$
$$\frac{\overline{d}(r) - \overline{c}(r)}{uu_+(r)} (1 + \frac{\overline{a}(r)\alpha_2(r)}{uu_+(r)}) = \alpha - \alpha_2(r).$$

Now we have linear equations with respect to $\alpha_1(r), \alpha_2(r)$, after solving them:

$$\alpha_1(r) = \frac{ll_+(r)(\alpha^2\underline{a}(r) + \alpha\underline{b}(r) + \underline{c}(r) - \underline{d}(r))}{ll_+^2(r) + (\underline{d}(r) - \underline{c}(r))\underline{a}(r)},$$

$$\alpha_2(r) = \frac{uu_+(r)(\alpha^2 \overline{a}(r) + \alpha \overline{b}(r) + \overline{c}(r) - \overline{d}(r))}{uu_+^2(r) + (\overline{d}(r) - \overline{c}(r))\overline{a}(r)}.$$

Using (3.5), (3.6), proof is completed.

In this method the updated approximates are $\underline{x}(r) = \alpha - \alpha_1(r)$ and $\overline{x}(r) = \alpha - \alpha_2(r)$. In another cases similar to case 1 we find:

3.2 Case (2): With $\tilde{A} < 0, \tilde{B} < 0, \tilde{X} > 0$:

Lemma 3.2 Suppose that $ll_+(r) = \alpha \underline{a}(r) + \underline{b}(r)$ and $uu_+(r) = \alpha \overline{a}(r) + \overline{b}(r)$ and $K(r) = \frac{\overline{a}(r)\alpha_1(r)}{uu_+(r)}, L(r) = \frac{\underline{a}(r)\alpha_2(r)}{ll_+(r)}$. If |K(r)| < 1, |L(r)| < 1 then with FRVM we obtain:

$$\alpha_1(r) = \frac{uu_+(r)G(\alpha, \alpha, r)}{uu_+^2(r) + (\overline{d}(r) - \overline{c}(r))\overline{a}(r)},$$

$$\alpha_2(r) = \frac{ll_+(r)\underline{G}(\alpha, \alpha, r)}{ll_+^2(r) + (\underline{d}(r) - \underline{c}(r))\underline{a}(r)}.$$

3.3 Case (3):

With $\tilde{A} > 0, \tilde{B} < 0, \tilde{X} < 0$:

Lemma 3.3 Suppose that $ul_+(r) = \alpha \ \overline{a}(r) + \underline{b}(r)$ and $lu_+(r) = \alpha \ \underline{a}(r) + \overline{b}(r)$ and $K(r) = \frac{\overline{a}(r)\alpha_1(r)}{ul_+(r)}, L(r) = \frac{\underline{a}(r)\alpha_2(r)}{lu_+(r)}$. If |K(r)| < 1, |L(r)| < 1 then with FRVM we obtain:

$$\alpha_1(r) = \frac{ul_+(r)\overline{G}(\alpha, \alpha, r)}{ul_+^2(r) + (\overline{d}(r) - \overline{c}(r))\overline{a}(r)},$$

$$\alpha_2(r) = \frac{lu_+(r)\underline{G}(\alpha, \alpha, r)}{lu_+^2(r) + (\underline{d}(r) - \underline{c}(r))\underline{a}(r)}.$$

3.4 Case (4):

With $\tilde{A} < 0, \tilde{B} > 0, \tilde{X} < 0$:

Lemma 3.4 Suppose that $lu_+(r) = \alpha \underline{a}(r) + \overline{b}(r)$ and $ul_+(r) = \alpha \overline{a}(r) + \underline{b}(r)$ and $K(r) = \frac{\underline{a}(r)\alpha_1(r)}{lu_+(r)}$, $L(r) = \frac{\overline{a}(r)\alpha_2(r)}{ul_+(r)}$. If |K(r)| < 1, |L(r)| < 1 then with FRVM we obtain:

$$\alpha_1(r) = \frac{lu_+(r)\underline{G}(\alpha, \alpha, r)}{lu_+^2(r) + (\underline{d}(r) - \underline{c}(r))\underline{a}(r)},$$

$$\alpha_2(r) = \frac{ul_+(r)\overline{G}(\alpha, \alpha, r)}{ul_+^2(r) + (\overline{d}(r) - \overline{c}(r))\overline{a}(r)}.$$

4 Numerical Examples

In the next examples we round numbers with approximation less than 10^{-4} .

Example 4.1 Let $\tilde{A} = (4/1/1)$, $\tilde{B} = (2/1/1)$, $\tilde{C} = (1/1/1)$, $\tilde{D} = (3/2/2)$. We will look for a solution where $\tilde{X} > 0$. The equation $F(\tilde{X}) = \tilde{D}$ becomes in parametric form as follows :

 $\begin{array}{rcrcrcrcrcrcrc} (3 + r, 5 - r)(\underline{x}^{2}(r), \overline{x}^{2}(r)) &+ (1 + r, 3 - r)(\underline{x}(r), \overline{x}(r)) + (r, 2 - r) = (1 + 2r, 5 - 2r).\\ The positive real root of 1-cut is $\alpha = \underline{x}(1) = \overline{x}(1) = 0.5. \end{array}$

With proposed method and based on lemma 3.1 we obtain:

$$\alpha_1(r) = \frac{-0.75r^2 - 0.5r + 1.25}{6.5r^2 + 23r + 18.5},$$

$$\alpha_2(r) = \frac{-0.75r^2 + 3.5r - 2.75}{6.5r^2 - 49 + 90.5},$$

$$\underline{x}(r) = 0.5 - \frac{-0.75r^2 - 0.5r + 1.25}{6.5r^2 + 23r + 18.5},$$

$$\overline{x}(r) = 0.5 - \frac{-0.75r^2 + 3.5r - 2.75}{6.5r^2 - 49 + 90.5}.$$

Because of |K(r)| < 1 , |L(r)| < 1 we accept these spreads.

In this problem Hausdorff metric is $D(F(\tilde{X}), \tilde{D}) = 0.0018.$

Example 4.2 Let
$$\tilde{A} = (-2/1/1)$$
,
 $\tilde{B} = (-3/2/1)$, $\tilde{D} = (-5/3/0)$.

We will look for a solution where $\tilde{X} > 0$. The equation $F(\tilde{X}) = \tilde{D}$ becomes in parametric form as follows :

 $\begin{array}{l} (-3 + r, -1 - r)(\underline{x}^2(r), \overline{x}^2(r)) \, + \, (2r \, - \, 5, -2 \, - \\ r)(\underline{x}(r), \overline{x}(r)) = (-8 + 3r, -5r) \end{array}$

The positive real root of 1-cut is $\alpha = \underline{x}(1) = \overline{x}(1) = 1$:

With proposed method and based on lemma 3.2 we obtain:

$$\alpha_1(r) = \frac{-6r^2 - 3r + 9}{9r^2 + 17r + 9}$$
$$\alpha_2(r) = 0,$$

$$\underline{x}(r) = 1 - \frac{-6r^2 - 3r + 9}{9r^2 + 17r + 9},$$
$$\overline{x}(r) = 1.$$

Because of |K(r)| < 1, |L(r)| < 1 we accept these spreads. In this problem Hausdorff metric is $D(F(\tilde{X}), \tilde{D}) = 0.0519$

5 coclusion

In this paper we use Fuzzy Restricted Variation Method (FRVM) to solve a Fully Fuzzy Quadratic Equation (FFQE). To this purpose we use restricted variables that lead to highly accurate solution. we can apply this method to write an algorithm to calculate solutions of a FFQE in four cases based on the sign of coefficients and variable.

References

- S. Abbasbandy, B. Asady, Newton's method for solving fuzzy nonlinear equations, Applied Mathematics and Computation 159 (2004) 349-356.
- [2] S. Abbasbandy, M. Otadi, Numerical solution of fuzzy polynomials by fuzzy neural network, Applied Mathematics and Computation 181 (2006) 1084-1089.
- [3] T. Allahviranloo, L. Gerami, The Solution of Fully Fuzzy Quadratic Equation Based on Optimization Theory, The Scientific World Journal 2014 (2014) 1-6.
- [4] T. Allahviranloo, M. Otadi, M. Mosleh, *Iter-ative method for fuzzy equations*, Soft Comput 12 (2007) 935-939.
- [5] J. J. Buckley, The fuzzy mathematics of finance, Fuzzy Sets and Systems 21 (1987) 257-273.
- [6] J. J. Buckley, Solving fuzzy equations in economics and finance, Fuzzy Sets and Systems 48 (1992) 289-296.
- [7] J. J. Buckley, E. Eslami, Neural net solutions to fuzzy problems: the quadratic equation, Fuzzy Sets and Systems 86 (1997) 289-298.

- [8] J. J. Buckley, E. Eslami, Y. Hayashi, Solving fuzzy equations using neural nets, Fuzzy Sets and Systems 86 (1997) 271-278.
- J. J. Buckley, Y. Qu, Solving system of linear fuzzy equations, Fuzzy Sets and Systems 43 (1991) 33-43.
- [10] J. J. Buckley, Y. Qu, Solving linear and quadratic fuzzy equation, Fuzzy Sets and Systems 38 (1990) 43-59.
- [11] J. J. Buckley, Y. Qu, On using α cuts to evaluate equations, Fuzzy Sets and Systems 38 (1990) 309-312.
- [12] J. J. Buckley, Y. Qu, Solving fuzzy equations
 : a new solution concept, Fuzzy Sets and Systems 39 (1991) 291-301.
- [13] S. H. Chen, X. W. Yang, Interval finite element method for beam structures, Finite elements in Analysis and Design 34 (2000) 75-88.
- [14] M. Li. Clazi, Toward a general setting for the fuzzy mathematics of finance, Fuzzy Sets and Systems 35 (1990) 265-280.
- [15] P. Diamond, P. Kloeden, Metric Space of Fuzzy Sets, WordScientific, Singapore (1994).
- [16] D. Dubois, H. Prade, Operations on fuzzy numbers, Journal of Systems Sience 9 (1978) 613-626.
- [17] D. Dubois, H. Prade, Theory and application, fuzzy sets and systems, Academic Press, 1980.
- [18] R. Goetschell, W. Woxman, *Elementary cal*culus, Fuzzy Sets and Systems 18 (1986) 31-43.
- [19] L. Jaulin, M. Kieffir, O. Didrit, E. Walter, *Applied Interval Analysis*, Springer-Verlag, London, 2001.
- [20] Q. X. Li, Si. F. Liu, The foundation of the grey matrix and the grey input-output analysis, Applied Mathematical Modeling 32 (2008) 267-291.
- [21] R. E. Moore, *Interval analysis*, Prentice-Hall, Englewood Cliffs, NJ, 1966.

- [22] P. Sevastjanov, L. Dymova, A new method for solving interval and fuzzy equations: Linear case, Information Sciences 179 (2009) 925-937.
- [23] C. C. Wu, N. B. Chag, Grey input-output analysis and its application for environmental cost allocation, European Journal of Operational Research 145 (2003) 175-201.
- [24] C. Wu, M. Ming, On embedding problem of fuzzy number space: Part 1, Fuzzy Sets and Systems 44 (1991) 33-38.
- [25] L. A. Zadeh, *Fuzzy Sets*, Information and Control 8 (1965) 338-353.
- [26] H. J. Zimmermann, Fuzzy set theory and its applications, Kluwer Academic Press, Dordrecht, 1991.



Leila Gerami Moazam got B.sc degree from Sharif University of Technology and Ms.c degree from Tehran University and her Ph.d degree in applied mathematics from Science and Research Campus, Islamic Azad University,

Tehran, Iran. Her main research interest include: Numerical and computational methods in science and engineering and fuzzy problems. She is a scientific staff and instructor in Islamic Azad University since 2000.